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JE O R 2 1 101, 689, 441
EHET = 1 77,822, 075
RS+ T (ICT) = 1 77,531,900 | AR (EE) B 1 (ICT) 21, 000 m3
R ESER 11, 000 m3
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FIA (-27) 11, 000 m3
+ +E50, 000m3ATH ;
A1 Bk 11, 100 m3
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EEEEIE T (ICT) = 1 290, 175 | {EHEZEETE (% 5F) (ICT) 530 m2
EHEfGE DL
AR B T Y 1 12, 669, 900
HEXLESRET = 1 12,669,900 | HEWR 6, 000 m3
FEPE L EAEAT I3 0 ffi & 30kg/m3 A=K
EE T Y 1 1, 607, 691 ’
MNZT = 1 1,607,691 |5& AT 88 m
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(PU1Y)
SR - AL 300X 300 ;

-1- E ta2@d Ui




= A = =]
FEAENGRE e
TS | Ky5 75 EEIMXERKE (Z010) 1TF
TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
At vy T = 1 234,600 | BUGFT HEEKME 3 AT
B HTHA 18-8-25 (Fi4F) 500X 500X 500 ;
£ 3 %
RS BE7500 X 500/ HDZT63 t=3. 2mm & I
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